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e REREL AU X AR 16m)MiH R BETS

% # s - kT B Y 8 B & # =
EEIEE 114,817,340
MEIRR 191,109, 538 + 69, 931, 069 261, 040, 607
HEfREE GH 179,209,966 + 11,232,114 + 667, 458 191, 109, 538
HBERHE (BLE) 179, 209, 966
HBREHE (R) 111,009,060 x 10.11% ((4.71% x1.68 +2.00% x 1.02) 11,232,114
BSRENER 107, 654,540 x 0.62% 667, 458
BiSEER 302,208,598 x 23.14% ((20.85% +1.62%) x 1.03) 69, 931, 069
THRfE 114,817,340 + 261,040, 607 375, 857, 947
—REEES 372,139,667 x 14.26% (14.26% x 1.00) — 3,918 53,063, 198
ZHRIE 372,139,667 x 0.04% 148, 855
T &l 375,857,947 + 53,063,198 + 148, 855 429, 070, 000
HBETEMALE 429,070,000 x 10.00% 42,907, 000
HAISE 429,070,000 + 42,907, 000 471,977, 000




BEARE KR L AR (- 16 S SR A T

£ b R - BAKTE Bify % =2 B * & =
EEIZE 114,817, 340
it 1B 2% 114,817, 340
BEYEET 107, 654, 540
BET 107, 654, 540
fHEmMBIHRIEE (1) ®1500 L=47.5m 29, 705, 980
1 HEMSIkEE () #1500 L=47.5m 5.00 5,941,196 29, 705, 980
.
fHEMBIHRBE (2 ¢ 1500 L=48.0m 5,941, 196
2 SEMBIREE (2 #1500 L=48.0m 1.00 5,941,196 5,941,196
p:
$HE B ¢ 1500 t=15mm 111,720
3 HEM T ¢ 1500 t=15mm 28.00 3,990 111,720
m
WEMEMREE () $ 1500 L=25.0m+L=22.5m 1,035, 655
4 HEVERIRE (1) ¢ 1500 L=25.0m+L=22.5m 5.00 207,131 1,035, 655
.
MEMERRE 2 $1500 L=25.0m+L=23.0m 207, 131
5 SAEMEMIRE (2 @ 1500 L=25. Om+L=23. Om 1.00 207, 131 207, 131
&
BT AR (1) Kep & $800 t=9mm 110, 250
6 L THREIER (1) Kep #H%E 800 t=9mm 6.00 18,375 110, 250
m
KT AR 18T (2) Jkeh H#Z$MH-500 x 200  t=10mm 96, 600
T R THREIER (2) ke HAZ8H-500 x 200  t=10mm 4.00 24,150 96, 600
m




BERNRE KIRAIL AR EARRE(-16m)MiHERIE TS
£ b R - BAKTiE Bifs £ B * & &

T AR 18T (3) 7k HAZ$HH-500 x 200 t=16mm 72, 450

8 LT R tIkR (3) sk HAZ4HH-500 x 200  t=16mm 3.00 24,150 72, 450
m

TR (1) 3-A 1, 696, 944

9 SR (1) 3-A 1.00 1,696, 944 1,696, 944
=

ET R (2) 4-A 1,696, 944

10 SETFHRIEE (2) 4-A 1.00 1,696, 944 1,696, 944
=

FAGLEBEEXETER) AR EE 3.0mx 3. 0mx 1. 55m (32t) 25,742, 970

11 ;;‘Eﬂmﬂlﬁ (BEXETE)AH ) 3. 0mx3.0mx 1. 55m (32t) 90. 00 286, 033 25,742, 970
&

FEBLER(EEXETE) ARQOBE 3. 0mx3.0mx1.55m(32t) 5,148 594

12 giﬁﬂﬁtﬂﬁ(lﬁliﬁi‘l:iﬂ) 75158 (2) # /3. Omx 3. Om % 1. 55m (32t) 18. 00 286, 033 5,148, 594
&

FEBLEEREGGZIXETE) AREE 2.5mx 2. 5mx 1. 65m (24t) 11, 441,320

13 BAMLE GRLXETR) AEEZE 2.5mx2.5mx 1. 65m(24t) 40. 00 286, 033 11, 441, 320
&

TREAR (1) #E 2. Tmx 2. Tmx 1. 30m (22t) 1,618, 089

14 {TREAR () EBE 2. Tmx 2. Tmx 1. 30m (22t) 3.00 539, 363 1,618,089
&

ITERA B Q) BE 2.6mx 2. 6mx 1. 30m (20t) 539, 363

15 {TIREAH ) BE 2.6mx 2. 6mx 1. 30m (20t) 1.00 539, 363 539, 363
&

REETRESAREE 1.85mx 1. 85m x 1. 00m (8t) 1,716,198

16 ZHERAEEAREE 1.85mx 1. 85mx 1. 00m (8t) 6. 00 286, 033 1,716,198

&
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KBR# It B R AR 16m MR EHRBE TS

£ {71 R - k& B % = i & # wm =

FHHREREE L ‘\HIH)—F 16, 089, 376
17 AHREIE L ‘\EHIALH)—F 2,032.00 7,918 16, 089, 376

m3
B |mFHFass)— bk 4, 683, 760
18 avsy—rHSEW BHa0—+F 2,032.00 2,305 4,683, 760

m3
Dt 7,162, 800
sy 7,162, 800
AR ‘\EHIALH)—F 7,162, 800
19 a5 y— sy BHa20—+F 2,032.00 3,525 7,162, 800

m3
HERZE FEL) 179, 209, 966
HiE R R 179, 209, 966
HBREE 179, 209, 966
ERE 3,871,012
ERMmaRESER 3,871,012
20 o fEAESLIER k5w o o L—2(200tR) 1.00 3,871,012 3,871,012

=
e ' 175, 296, 954
= 13,735, 946
21 1ZHATREER atZi 1.00 11, 285 11,285

=
22 {TEREBE E,F,GH I, JKTZ 6.00 2,047, 434 12, 284, 604

#®




BEARE KR L AR (- 16 S SR A T

£ Eg B - K& B % = B ® % =

23 KIGEMIZHTRE DTHZ 1.00 1, 440, 057 1, 440, 057
=

REXER 161, 561, 008

24 REFERM ZEEMRM 1) BERM A 1.00 76,851,818 76, 851, 818
=

25 RLERMK RL2E/RM () BERMREG) 1.00 76, 807, 571 76, 807, 571
=

26 REERM ZEERM (2) 1.00 4,403, 454 4,403, 454
=

2] RELERMK RLERMKO) 1.00 2,988, 711 2,988, 711
=

28 X@FER 1.00 509, 454 509, 454
=

HiEEE 42,000

HiiE®E 42,000

29 MEIERERE EZAYVITRE 1.00 42,000 42,000
=




REAR-FET/vTr—> TR 525 L 25 7 B AL B (1 6m) M MR SR R T

&S 1
2 SHEMSIRIBE (1) 61500 L=47.5m 1BEY (X)
£ {7 R - AT By B = B Of & - IS i &

N4 Jonrv HERTESERE &EHRA1,592~2, 579kN

B 1.00 510, 000. 00 510, 000|6. 00H / 8H
g L—rftEMm (R/Xy FK) (GE6/7£8)  450tH

B 1.00 4,548, 952. 00 4,548,952/6.00H / 8H
NAJLF—iN— PK-450

B 1.00 104, 000. 00 104, 000
51 /D 1500PSE!

B 1.00 372,013. 00 372,013|2.00H / 8H
HEFEEW BEHEMSIR) 800kVA

B 1.00 149, 433. 00 149, 433
HEE&

A 1.00 217, 720. 00 21,720
U

A 4.00 217, 830. 00 111, 320
LTEEXE

A 4.00 22,050. 00 88, 200
MAH LNV

% 0.50 5,911, 638. 00 29, 558
= E 1EZREH 1. 00K 5,941, 196. 00 5,941,196




KR -/ \vr—

KERAIL AR 16m)MFERBETIS

&S :2
275 HEMSIIREE (2 $1500 L=48.0m 1B%HY (1K)
£ {7 R - AT BARL B = B Of & 8B IS i &
NAJany<w HEXTESRAKE &EikA1,592~2, 579kN
B 1.00 510, 000. 00 510, 000|6. 00H / 8H
g L—2ftEm (R/8y FR) (GE6/748) |450tH
B 1.00 4,548, 952. 00 4,548,952/6.00H / 8H
NAJLF—iN— PK-450
B 1.00 104, 000. 00 104, 000
51 £D 1500PSE!
B 1.00 372,013. 00 372,013|2.00H / 8H
HEFEEW BEHEMSIR) 800kVA
B 1.00 149, 433. 00 149, 433
HEE&
A 1.00 217, 720. 00 21,720
U
A 4.00 217, 830. 00 111, 320
LTEEXE
A 4.00 22,050. 00 88, 200
MAH LNV
% 0.50 5,911, 638. 00 29, 558
= E 1EZREH 1. 00K 5,941, 196. 00 5,941,196
&S :3
B SHEMYIET ¢ 1500 t=15mm 1H&Y (11.5m)
£ {7 R - AT BARL B = B Of ® & IS % &
AR GELHET) FE 10mmil £ 20mmk i
m 11.50 3,990. 00 45, 885
= it YEZRES  11.50m 3,990. 00 45, 885




KR -/ \vr—

KERAIL AR 16m)MFERBETIS

5:4
2 SNENEMRME (1) 61500 L=25.0m+L=22. 5m 1BEY GBX)
£ {7 R - BAKTiE By = B Of & - IS i &
=N £ 10x10cm
m 3 0.50 11, 300. 00 5, 650
Iv9oL—y ChEfET 78 200t A
B 0.10 362, 000. 00 36, 200 |8H
=] $M500tFE
B 1.00 159, 757. 00 159, 757 10H
51 D 500PSE!
B 1.00 267, 055. 00 267,055/8.00H / 10H
U
A 3.00 217, 830.00 83, 490
LEEXE
A 3.00 22,050. 00 66, 150
AH 2E0Y%
% 0.50 618, 302. 00 3,091
= E 1E%RER : 3. 00K 207,131.00 621, 393
5:5
2 SHENERME (2) ¢1500 L=25.0m+L=23.0m 1BEY GX)
£ {7 R - KT By = B O{f & | LIS 5 &
aX A 10x10cm
m3 0.50 11, 300. 00 5, 650
crSvooL—2 ChHEfET 78 200t A
=] 0.10 362, 000. 00 36, 200|8H
=30 #M500t3E
B 1.00 159, 757. 00 159, 757 10H
EIE G £MD 500PSZEY
B 1.00 267, 055. 00 267,055/8.00H / 10H
U
A 3.00 27, 830.00 83, 490
LEEXE
A 3.00 22,050. 00 66, 150
AR 2R0Y%
% 0.50 618, 302. 00 3,001
= B 1E%HER : 3. 00K 207,131.00 621, 393




KR -/ \vr—

KERAIL AR 16m)MFERBETIS

&S :6
AF R TAREIET (1) JKep 8% ¢ 800 t=9mm 1BH&EY (12m)
% £ R - AR R BARL #H = B i £+ % W E i &
KepEERT7— U Uk 2mmLL £ 10mm3k 55
m 12.00 18, 375. 00 220, 500
= il YEZEREN : 12.00m 18, 375. 00 220, 500
&5 :17
B SETHRYIET (2)  JKee HAZ88H-500 %< 200  t=10mm 1BH&Y (10.9m)
% 5 R - BRTiE Bf 8 = B ff ® % W = i &
KPEEFRT7— U Uk 10mm LA _E 20mm3k i
m 10. 90 24, 150. 00 263, 235
‘e it ‘1’5%‘5‘&73  10. 90m 24, 150. oo‘ 263,235‘
&5 :8
¥ SETHRYIET (3)  JKeh HAZ88H-500 % 200 t=16mm 1BH&Y (10m)
% E R - AR R BARL #H = B i £ % W E % &
KebEERT7— U Uk 10mm Ak 20mmk i
m 10. 00 24,150. 00 241, 500
= it YEZEREN : 10.00m 24, 150. 00 241, 500




KR -/ \vr—

KERAIL AR 16m)MFERBETIS

&S :9
B L THREEAN) 3-A 1AEY (&)
£ {7 R - BAKTiE By = B Of & - IS % &
R E M GERTEED) $HD 150t/
=] 1.00 1,015, 042. 00 1,015,042/6.00H / 8H
e £MD 2000PSZEY
=] 1.00 437,764. 00 437,764/2.00H / 8H
KL D 270PSE! 3~5tfm
=] 0.80 177, 146. 00 141, 716/8H
LU
A 1.00 217, 830. 00 27,830
TEEXE
A 3.00 22, 050. 00 66, 150
AR 2{R0Y%
% 0.50 1, 688, 502. 00 8, 442
& B 1EZBERN - 1.00& 1,696, 944. 00 1,696, 944
&5 :10
B K THREBE(2) 4-A 183Y (1)
% {7 R - BAK~TiE By = B Of & o W = % &
R E M GERTTEE) $HD 150t/
=] 1.00 1,015, 042. 00 1,015,042/6.00H / 8H
e /D 2000PSEY
=] 1.00 437,764.00 437,764/2.00H / 8H
KRR D 270PS%E! 3~5tm
=] 0.80 177, 146. 00 141,716/8H
LU
A 1.00 217, 830. 00 27,830
TEEXE
A 3.00 22, 050. 00 66, 150
MAH 2E0Y%
% 0.50 1, 688, 502. 00 8, 442
& B 1E%RED 1. 00& 1,696, 944. 00 1,696, 944
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KERAIL AR 16m)MFERBETIS

B5 11
2% FABLE(FEEXETE) AR (DHEZE 3. 0mx 3. 0mx 1. 55m(32t) 18%Y (648)
£ {7 R - BAKTiE By = B Of & - IS i &
EEEH M GEMERD) $D 150t F
H 1.00 1,015, 042. 00 1,015,042/6.00H / 8H
e /D 2000PSE!
H 1.00 437, 764. 00 437,764/2.00H / 8H
KL D 270PSE! 3~5tfm
H 1.00 177, 146. 00 177,146 8H
U
A 2.00 27, 830. 00 55, 660
TEEXE
A 1.00 22, 050. 00 22,050
AR 2{R0Y%
% 0.50 1,707, 662. 00 8,538
& B {EZ8EH : 6. 00(& 286, 033. 00 1,716, 200
512
2% FAMLE(BEEXETE) AR Q) HZE 3. 0mx 3. 0mx 1. 55m(32t) 183Y (648)
% {7 R - BAK~TiE By = B Of & o W = iw &
R E M GERTTEE) §D 150t
H 1.00 1,015, 042. 00 1,015,042/6.00H / 8H
e /D 2000PSE!
=] 1.00 437, 764. 00 437,764/2.00H / 8H
KRR D 270PS%E! 3~5tm
H 1.00 177, 146. 00 177,146 8H
EUT
A 2.00 217, 830. 00 55, 660
TEEXE
A 1.00 22, 050. 00 22,050
MAH 2E0Y%
% 0.50 1,707, 662. 00 8,538
& B YEZHES : 6. 001& 286, 033. 00 1,716, 200
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KERAIL AR 16m)MFERBETIS

#5513
B FALEGRAIXETE) AEE 2. 5mx 2. 5mx 1. 65m (24t) 18%Y (648)
£ {7 R - BAKTiE By = B Of & - IS i &
EEEH M GEMERD) $D 150t F
H 1.00 1,015, 042. 00 1,015,042/6.00H / 8H
e /D 2000PSE!
H 1.00 437, 764. 00 437,764/2.00H / 8H
KL D 270PSE! 3~5tfm
H 1.00 177, 146. 00 177,146 8H
U
A 2.00 27, 830. 00 55, 660
TEEXE
A 1.00 22, 050. 00 22,050
AR 2{R0Y%
% 0.50 1,707, 662. 00 8,538
& B {EZ8EH : 6. 00(& 286, 033. 00 1,716, 200
E#E5 14
B ATREARNMBE 2. Tmx 2. Tmx 1. 30m (22t) 183Y (3@E)
% {7 R - BAK~TiE By = B Of & o W = iw &
R E M GERTTEE) §D 150t
H 1.00 1,015, 042. 00 1,015,042/6.00H / 8H
e $fD 1300PSE!
=] 1.00 340, 141.00 340, 141]2. 00H / 8H
KRR D 270PS%E! 3~5tm
H 1.00 177, 146. 00 177,146 8H
EUT
A 2.00 217, 830. 00 55, 660
TEEXE
A 1.00 22, 050. 00 22,050
MAH 2E0Y%
% 0.50 1,610, 039. 00 8, 050
& B YEZHED : 3. 00& 539, 363. 00 1,618, 089




KR -/ \vr—

KERAIL AR 16m)MFERBETIS

&S5 : 15
B KTREABR Q) #EE 2. 6mx2.6mx 1. 30m(20t) 18%Y (3@E)
£ {7 R - BAKTiE By = B Of & - IS i &
EEEH M GEMERD) $D 150t F
H 1.00 1,015, 042. 00 1,015,042/6.00H / 8H
e $fD 1300PSE!
H 1.00 340, 141.00 340, 141]2.00H / 8H
KL D 270PSE! 3~5tfm
H 1.00 177, 146. 00 177,146 8H
U
A 2.00 27, 830. 00 55, 660
TEEXE
A 1.00 22, 050. 00 22,050
AR 2{R0Y%
% 0.50 1,610, 039. 00 8, 050
& B {E%8EH : 3. 00{& 539, 363. 00 1,618, 089
&5 :16
B R AZE A REE  1.85mx 1. 85mx 1. 00m (8t) 183Y (648)
% {7 R - BAK~TiE By = B Of & o W = iw &
R E M GERTTEE) §D 150t
H 1.00 1,015, 042. 00 1,015,042/6.00H / 8H
e /D 2000PSE!
=] 1.00 437, 764. 00 437,764/2.00H / 8H
KRR D 270PS%E! 3~5tm
H 1.00 177, 146. 00 177,146 8H
EUT
A 2.00 217, 830. 00 55, 660
TEEXE
A 1.00 22, 050. 00 22,050
MAH 2E0Y%
% 0.50 1,707, 662. 00 8,538
& B YEZHES : 6. 001& 286, 033. 00 1,716, 200
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KERAIL AR 16m)MFERBETIS

511
A% AEREURL E|EHoLHU—Fb 10m3&HY
£ {7 R - AT By = B Of & - IS i &
EHEEY B #MELT HIE 8K
m3 10. 00 7,918.00 79,180
& B E%HESH - 10.00m 3 7,918.00 79, 180
&5 :18
B aVH V- AZER E|HarIU—F Tm3&HY
£ 7 R - BAKTiE By = B ff & | W = i &
avy)— A SEW |V )— b
m3 1.00 2,305 2,305
"3‘ &t ‘1’5%'5&73 :1.00m 3 2,305‘ 2,305‘
E#S:19
& aVy)—rELS EHaUV)—t Tm3%HY
£ {7 R - KT By = B O{f & | IS % &
avy ) — BN E 3
m3 1.00 3,525.00 3,525
& i 1E%HEH : 1.00m 3 3,525.00 3,525
#5:20
B DEMELER FSvo U L—2(200tRA) 1By
% L R - KT By = B ff ® ] IS % &
SI7FL—29 L—r A AR EE) GHE s> T8 10t R
=] 4.00 119, 000. 00 476, 000 8H
HHIEEER
A 11.70 25, 620. 00 299, 754
EiREER YEEB DY
% 399. 00 715, 754. 00 3,095, 258
& i 1EZBER - 1.00 3,871,012.00 3,871,012
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KERAIL AR 16m)MFERBETIS

&B5 21
B TR 183Y (64%)
£ R - BAKTiE B B Of & - i &
g L—ftEM 80tH
H 435, 079. 435,079
51 D 500PSE!
H 189, 620. 189, 620
sV
A 217, 830. 217, 830
TEEXE
A 22, 050. 66, 150
AH L NOY
% 718, 679. 3,593
& B YEZRES : 64. 00K 11, 285. 122,272
B®5:22
B KTiREHE EFGH I, JITE 1835Y (1)
£ R - AT B B Of & - B &
RCE M GERTEED) $fD 150t/
H 1,015, 042. 1,015, 042
i §fD 2000PSE!
H 437, 764. 437,764
KR D 270PS%E! 3~5tm
H 177, 146. 177,146
=R /500t 55
H 148, 791. 148, 791
EIEE 4D 450PSE!
H 180, 795. 180, 795
U
A 217, 830. 55, 660
TEEXE
A 22, 050. 22,050
AR LNV
% 2,037, 248. 10, 186
=) Bt %8 : 1. 00K 2,047,434, 00 2,047,434
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KERAIL AR 16m)MFERBETIS

5 :23
& KIBEMXAZHTE DT 1HEY (1)
2 Lo R - BAKTiE By 8 =2 B ff & 8B IS ik &
EEEH M GEMERD) $D 150t F
=] 1.00 1,015, 042. 00 1,015,042/6.00H / 8H
e $fD 1300PSE!
=] 1.00 340, 141.00 340, 141]2. 00H / 8H
LU
A 2.00 27, 830.00 55, 660
THEEXER
A 1.00 22, 050. 00 22,050
e 2RD%
% 0.50 1,432, 893. 00 7,164
& B 1EXRERN 1. 00& 1, 440, 057. 00 1, 440, 057
BB :24
2% RE2EAR ZEERR ) BEERA 1KY
2 L R - AT By B = B ff € 8B W E w %
REERM (FR24H) [2485R) 30GT
=] 108. 00 707, 643. 00 16, 425, 444|24H
E FRVHF 2 f [E FRVHF 453
=] 108. 00 407. 66 44,027
MR 2RD%
% 0.50 76, 469, 471. 00 382, 347
& B 1EZBER - 1.00 76, 851, 818. 00 76, 851, 818
H5:25
2% RE2ERR ZREERRJ) BEHEREG =)
22 g g - BIKTE BAGL H 2 B & 8B W E H %
REERM (Fi24H) [2485R] 30GT
A 108. 00 707, 643. 00 16, 425, 444|24H
MM 2EDY%
% 0.50 16, 425, 444. 00 382,127
& H 1EZ8ER - 1.00 76,807, 571.00 76, 807, 571
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KERAIL AR 16m)MFERBETIS

E#S 26
£ REERR REEHERO 1KY
2 Lo - BT By = B ff & 8B IS ik &
RZEESMG8H) (BRE) (EREREST #HD50PSEA4. 9GTHE
%) H 41.00 106, 867. 00 4,381,547 8H
MM 2K0%
% 0.50 4,381,547.00 21,907
& B YE%HEH : 1.00K 4,403, 454. 00 4,403, 454
521
& REERR REEHRREO) 1Y
2 L R - KT By = B ff € 8B W E " &
REEHRM F8H) (B $MD50PSE!4. 9GTH#R
=] 38.00 78, 259. 00 2,973,842 |8H
HME 2R0%
% 0.50 2,973, 842.00 14, 869
& B 1EZ8EH - 1. 00 2,988, 711.00 2,988, 711
5:28
2% RBFEE =)
2 Lo g - BIKT&E By = B ff € 8B IS E %
RBHFEEREB
A 38.00 13, 340. 00 506, 920
HME 2RD%
% 0.50 506, 920. 00 2,534
& B 1EZBER - 1.00 509, 454. 00 509, 454
H#5:29
& BIKERE E=42VCIRE 1X5Y
2 L R - BAKTiE By = B & &8 W E % &
EIXRERE
= 1.00 42,000. 00 42,000
& &t YE%HEH : 1.00K 42, 000. 00 42,000 ‘

12




Bk KR AL B E R AR 1 6m) B IR T
BRES |
BEREH N TONUT REXTESERE 2IEN1, 592~2, 5TKN 6.00H / H
% # i - IR B g B ff & = 1 =
B (1 TaNUT GREREIR) BERTESRE B ERA1,502~2, 579kN
B 6. 00 30, 000. 00 180, 000 PEE TR
BE (1 TaNST GREREIR) BERTEBRE B ERA1,592~2, 579kN
=] 1.65 200, 000. 00 330,000 a=1.65 #“AA
& it 510, 000
BERES 2
BEREH : 2 L— A0 (RS KR) GE6/#8) 450tR 6.00H / 8H
& # 1tk - RA B g B fE & = i =
&l Rk
L 925. 00 86.10 19, 642
MEE
A 1.20 30, 660. 00 36, 792
BRAE
A 1.20 30, 660. 00 36, 792
HEME
A 8.40 23, 840. 00 200, 256
EEF (%)
A 1.20 25, 100. 00 30,120
#H (va—3oL—V) 450t R
B 6. 00 271, 000. 00 1,626, 000 PEL TR
B (va—3oL—V) 450t A
=] 1.65 489, 000. 00 806, 850 a=1. 65 #tAR
B (B (7 L—UHEMA) CGEEX  800~1,000tH
AV =] 1.65 1, 050, 000. 00 1,732,500 a=1.65 #tAR

& &

4,548, 952




==X i TR 525 L 25 7 B AL B (1 6m) M MR SR R T
BfRES 3
B{fFLM : 5/ 8D 1500PSHE! 1BZ LY 2.00H / 8H
2 # 1 - IR B B B & @ R " =
)
L 342.00 99. 50 34,029
=TT
A 3.60 30, 660. 00 110,376 B=1.20
ZEME
A 1.20 23, 840. 00 28,608 B=1.20
B (5 ERaL]) D 1, 500PSEY
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